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16P/283/29
No. of Questions : 150

U9l il GEAT: 150
Time : 2% Hours Full Marks : 450
quT 2% wue . quniE: 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. :

SIS TSH N & HIA A 9IS B | Tdh a9 3 ()
S W 2| FEF TaT IAX B 0@ TH SfF BT AT/
Sedeh ST S99 W Wi LT ErT |

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

IS THITSeh Jhleuss ITX T8l I0X & Mepe dia &, af ehean
el I T

01. When was the National Bank for Agriculture and Rural Development
established ?

(1) July, 1982 (2) July, 1969
(3) June, 1951 (4) June, 1961
TS B SR Anfior e Fep A wonaer e g o ?
(1) S1s, 1982 H (2) SIS, 1969 F
(3) I+, 1951 H (4) S, 1961 &
3 P.T.0,
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02.

03.

04.

General Budget of the Government of India is generally presented in

the Parliament every year on the :
(1) 1% day of January (2) 1% day of April
(3) Last day of February (4) Last day of March

YT LB T 3MH doic, 9 H U g9 ATH=IaAr 997 fpar st
g |

(1) SHad & s f&F (2) oMW & Uea &
(3) wXEd & oAf~aw = (4) == F FfaH ~’H

Which among the following is not a public sector bank ?
(1) Allahabad Bank (2) City Union Bank

(3) UCO Bank | (4) Vijaya Bank

e 5 9§ 9 9idsiiae &9 & 9% T8 & ¢

(1) sTEER S ) fadr gfe= §%

(3) T S (4) FomEr S

Which of the following public sector companies provides insurance
cover to exporters ?

(1) ECGC (2) NABARD (3) SIDBI (4) IRDA

fyifaiiaa T &= @t wefral § & @ Frafat S g
Ul el & ¢
(1) sd.she. (2 ¥=E (3) = @) 3T
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06.
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What are NEFT and RTGS about ?

(1) Cheque transaction process

(2) Electronic fupd transfer from bank to bank
(3) Electronic payment products within a bank

(4) Various deposit products

Uq.3.0%.8. qur ). .ofey. Fed wefa g 7

(1) 3 | & ufkar |

(2) T b A TR G B AT geeRE Y SR d
(3) Frel S & oT=X & WS P IdEl o

(4) FaferT o S &

Which of the following is mnet the part of organised sector Money
Market of India ?

(1) Chit Funds

(2) Mutual Funds

(3) No_n—bariking Financial Companies

(4) Reserve Bank of India
ﬁmfﬁﬁrﬁﬁaﬁqm%gmw%wﬁﬁ' A & 31T A&l
g2 |

(1) f&IE wos

(2) wearT fHfRET

3) I-facha SfpT FHwafar

4) “IRGE Red 9%

P.T.O.
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07. How does RBI regulate through Open Market Operation

08.

09.

transaction ?

(1) Flow of Foreign Direct Investment

(2) Borrowing powers of the banks
(3) Inflation

(4) Liquidity in economy

;ﬂ;.ﬁ.m,mw@waﬁf?ﬁm%@%ﬁﬁwqw
(1) fReft yer MR ® vere @

(2) dH P IR A9 B AYHRT A

(38) Ha&T EI™ |

(4) oTefEmeEer H{ AXer A

Which is the first bank to introduce credit card in India ?

(1) Canara Bank ' (2) Central Bank of India
(3) Bank of Baroda (4) ICICI Bank

AR H ST HIE U FHIH G ISl b DA © 7

(1) ®u 6 (2) W= S Sl gfoear
(3) Fh IHf®H aeﬁaT_ (4) oz .9r.end . Hi.eTE. 9%

Which one of the following 'Cess’ has been announced in the Union
Budget 2016-17 ?

(1) Swachh Bharat Cess (2) Clean Energy Cess
(3} Krishi Kalyan Cess (4) Primary Education Cess

FE gote 2016-17 § Fr=ifed § @ H9-8 Q@7 I A fopar 7
e 7

(1) =8 9Rd a9 () A SN AqE

(3) T FHeAOT A (4) TETO T 9

Qcollegedunia,
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11.

12.

13.
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Which is the largest foreign bank in India ?

(1) American Express Bank Ltd. (2) DSB Bank Ltd.

(3) Bank of America (4) Standard Chartered Bank
IRd # q=d 371 sl J H 7 7

(1) A& g ¥ e (2) . wd. &t F& fdo

(3) Siw It IR (4) =% =Es T%
Who was the first Indian to become Governor of RBI ?

(1) Liaquat Ali Khan (2) T.T.Krishnamchari
(3) John Mathai (4) C.D. Deshmukh
RIS H AT ARG T4 I g3 7

(1) TerEEpa otell @™ 2 A. . gEEHITd
(3) SF " (4) €. . IwE

Which of the following does not belong to the products of life
insurance ?

(1) Endowment (2) Personal accident insurance
(3) Term (4) Whole life

Frefofed & & @9 sfiea §mr Sae aggl § afafe 58 & 2
(1) FREHE (2) @AfRFI geenr S

(3) =d (4) BN qBH

Which one of the following does not belong to the major general
insurance private sector companies in India ?

(1) Bajaj Allianz General Insurance

(2) Reliance General Insurance

(3) Royal Sundaram Alliance Insurance
(4) f’[‘he Oriental Insurance Company

P.T.0.
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14,

15.

16.

fr=fofaa & @ #i- '
Wﬁm%%ﬁmﬂgﬁ?%ﬁﬁﬁéﬁaﬁwwaﬁm
(1) SIS TS SR 29919

(2) Ram= s gwaig

(3) T =3H U 3999

(4) & AT=a z=aT H

When did the Government of India appoint a committee under the
Chairmanship of Shri M. Narsimham to strengthen the banking
system ?

1} May, 2006 (2) April, 1998
(3) December, 1997 (4) September, 2005

fehT AT ggg HA B 9RG @R I s oA, Ried @
SERAl arell FHA B YRR Ha #r ooy ?

(1) 72, 2006 & (2) ST, 1998 H

(3) gz, 1997 # (4) IR, 2005 #

When was Life Insurance Sector Nationalised in India ?

(1) 1934 (2) 1907 (3) 1938 . (4) 1956
ARG H SHas |1 &5 T USEIARIOT el [ohar =T o7 ?

(1) 1934 & (2) 1907H  (3) 1938 H (4) 1956 H

Who appoints the Finance Commission in India ?
(1) President (2) Prime Minister

(3) Finance Minister (4) Planning Commission

qg # e ST & gk B e ® 7
(1) gy (2) SR
(3) faerss (4) AT SAEATT

Qcollegeduniaa
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18.

19-

20,
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In which year was the Banking Regulation Act passed ?

(1) 1949 (2) 1951 (3) 1955 (4) 1969
St e sfafae e ad wiRa gem ar ?
(1) 1949FH 2) 1951" (3) 1955# 4) 1969 H .

Who works as RBI agent at places where it has no office of its own ?
(1) Ministry of Finance (2) Government of India
(3) International Monetary Fund (4) State Bank of India

S WM IX S8 o, ft. 1. & o Fsht srfem &t 84, &
HAR. &t. ME. H T & Y F Hd HEar & 7

(1) e g=ea (2) WRA AHR
(3) IR HaT Y (4) T Ve d6

The insurance companies collect a fixed amount from its customers
at a fixed interval of time. What is it called ?

(1) Installment {2)' Contribution
(3) Premium (4) EMI

e R R R i e T v ap—
SIS UX Il & 1§ 94T Hel Sar & ?

(1) forsa (2) A=
3) whftrEw 4) §. uq. ome.
Census in India is held regularly after every :
(1) 6 years (2) 8 years (38) 10 years (4) 12 years
Wﬁmmﬁuﬁamﬁﬁﬁ%w%wwm%?
(1) ead (2) 8ad (3) 10 @) 123§

9 P.T.O.
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21. The campaign “Start-up India, Stand up India” aims to :

22.

(1) Encourage entrepreneurship among the youth of India

(2) Promote skill development training projects in eastern states of
India

(3) To provide loans at low rates to microfinance institutions and
non-banking institutions

(4) All of the above

“WiE I Eean, Ve AU AT’ aiREE @ SRed @
(1)« garsdl § IAfFar H gerEr

(2) 9RG & gdl woat H diee fqee giwer aREsEet @
gieated T

(3) Feg-fom weemsit aem A-dfpT deewet w1 S W) wor
Y&l h{Am
(4) Ia=RT T

Land Development Banks in India is owned by :
(1) RBI

(2) State Governments

(3) Public Sector Commercial Banks

(4) Co-operative Societies

qRa § gfa e 36 fras @l § 8 7

(1) SRR B

(2) T WXERI &

(3) ardsitiE & B A et @
4) geprd giufedl &

10
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24,

25.
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Which of the following is known as 'plastic money' ?

(1) Bearer cheques (2) Credit cards
(3) Demand drafts (4) Gift cheques
fr=ifeea # @ R ‘<ifes A+ ST ST © 7
(1) RER % H (2 wfsT WS W
(3) Rmrs g @@ (4) Free 3% &

Which agency examines the national income of India ?
(1) Ministry of Finance

(2) Planning Commission

(3) Reserve Bank of India

4) Central Statistical Organization
ARG & AT H S BH-G1 Er Hal & ?

(1) T s=nea (2) T RN
@) AdE Rod Fo (4) BT giemar gireT

Where is the headquarter of Asian Development Bank (ADB)
situated ?

(1) Manila (2) Delhi
(3) Hong Kong (4) Bangkok
R B 36 (3.9 4.) @ genem s Rag & 7
(1) e (2) Rt
(3) BT =i (4) Hpren
11

P.T.0
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26.

27.

28.

Which of the following Five Year Plans recognised human development
as the core of all developmental efforts ?

(1) Third Five Year Plan (2) Fifth Five Year Plan
(3) Seventh Five Year Plan (4) Eighth Five Year Plan

% fasbrdE g€l & G & w9 § A e @y
UEaurE AT § Hrdr o @y ?

(1) Forg deas drsrr J (2) daw dEgdtg deen 8

(@) Wi ety Ao § () smedt deedta Ao A

In India, income tax is levied by :
(1) Union Government (2) State Government

(3) Reserve Bank of India | (4) Ministry of Finance
TR H STgHY a9l Sl 8

(1) = TR &XT (2) [T B ER]T
(3) WA Re/d &% 3R (4) fad g=I@a &N

Rajiv Gandhi Equity Saving scheme is designed for :
(1) High net worth individuals (2) Individual retail investors

(3) Corporate (4) Post ofﬁces

ot e T S Ao @ O fhad ol @ T E
(1) v=F Got A aafRrt & R

) R gTa R S

o) e (@) & R

(@) e onftem F R

12
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30.

31.
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Which of the following meets the credit needs of the poor women ?
(1) Mahila Samriddhi Yojana

(2) Rashtriya Mahila Kosh

(3) Indira Mahila Yojana

(4) Mahila Samakhya Programme

Frefefaa § @ i e Afgarel H @ SEdl S QO Sl
g7

(1) #feeT |gis A (2) TS AR Hiy

(3) s afgem A (4) wfewT mERET HIEET
The best indicator of economic development of any country is :
(1) Its agriculture (2) Its transport

(3) Its gross production (4) Its per capita income
fpell «it 31 & STt faebre @1 walaH dahdes erdr & 9
(1) - (2) uREE

(3) THT I (4) i Al 314

The Chota Nagpur Plateau, famous for its mineral deposits, is situated
in:

(1) Maharashtra : (2) Jharkhand
(3) Madhya Pradesh (4) Bihar
Bl MYY 9o, S @ w3 & R afis ) R B
(1) werrg # (2 =@Evs o
(3) weH way H @) foer &
13

P.T.0,
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32.

33.

34.

The most vulnerable social group for poverty are :
(1) Scheduled Tribes

(2) Urban Casual Labourers
(3) Rural Agriculatural Labourers
(4) Scheduled Castes

T At gfeeator § d9d HSiR g @t ¥
(1) STEfRIT ST (2) &l AT Asigy
(3) FWOT HiY HSEI (4) STl S

Depression in the economy is characterised by :
(I) Unprecedented level of unemployment

(2) Drastic fall in income

(3) Drastic fall in output and-employment

(4) All of the above

feqer § g @ BFfwar Bkt ®
(1) Sty AASEMH &R

(2) g ¥ gt § FrmEe

(3) IamEa Fom TAsmT ® dsit |/ [ae
(4) ST Gl

The basic objective of Export Promotion Council is to promote and
develop the Exports of the : _

(1) Particular products of the country

(2) Only attractive projects of the country

(3) Only services industry products of the country

(4) Overall exports of the country

14
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Prata dad= aftew &1 e Sgasd Fafa dada od fwE w3
e

(1) 2w & fafdree S@Ed @&

2) %aa%ar%aﬂzﬁﬁizﬁqﬁﬁweﬁaﬁr

(3) Paw 2 B [T AT D SART H

(4) 3w B YT Ffal @&

What does the term NSDL stand for ?

(1) National Securities Development Limited
(2) National Securities Depository Limited
(3) National Safety Development Limited

(4) National Safety Deployment Limited

. od. 3. . 9= fhas @ s Smar ® 7
(1) AT RegRRsT Saqwie Rifree

(2) e ReRRfes Rufed fifrs

(3) T AR Sawudz ffee

(4) S A Rarde fafee

National Stock Exchange (NSE) is located at :

(1) Mumbai (2) New Delhi (3) Chennai (4) Kolkata

15
P.T.0,
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37.

38.

39.

A @ TRAST (T, Te. §.) Reg ®
(1) T o (2) - Resht &
(8) == H (4)  Ficepar i

The economic liberalization was introduced in India in :

(1) 1991 (2) 1990 (3) 1988 4) 1985

AT § iR ST #il Y@ gE ot -
(1) 1991 # (2) 19907  (3) 1988 H (4) 1985H

Which is not an advantage of international trade ?
(1) Export of surplus production

(2) Import of defence material

(3) Dependence on foreign countries

(4) Availability of cheap materials

FARIST AR H HF-G1 AT 781 © 7
(1) s SeTET Rt (2) & GREA @ ST
(3) FoRelt X fsan (4) @& |eEll A e

Trade between two countries can be useful if cost ratios of goods are :

(1) Equal (2) Different

3) Undetermined | (4) Decreasing

16
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a%aﬁ%eﬁawmﬂmém%aﬁmﬁ%amﬁ

ERCICEE |

(1) = &t 2) Br= @
(3) ifwfRe & (4) @ex A @
A tariff :

(1) Increases the volume of trade
(2) Reduces the volume of trade

(3) Has no effect on volume of trade

(4) Creates differences between importer and exporter

dr g6 @ HEE o §
(1) AWK &H A= § g
(2) ORI H AqET T FHAT -
3) Wﬂ?fw'ﬂaﬁémqﬁ

() TaIEat 9 Frafawdl & d" qaes gaT B

Dumping refers to :

(1) Buying goods at low prices abroad and selling at higher prices
locally

(2) Expensive goods selling at low prices
(3) Reducing tariffs

(4) Sale of goods abroad at low prices, below their cost and price at
home market

17 P.T.O.
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420

43.

i () @ snvm gy

(1) ¥Rl | B9 @ R A g e ok g e §
ST g 9= e

(2) & AEE FH e ax Age

(3) W3k F A FeAT

(4) T& AT 91 &l @ 9 qed @ FH qeg oY R & A
LR

How much income is exempt from income tax for senior citizens for
the assessment year 2015-16 ?

(1) ¥ 1,00,000 (2) ¥ 2,50,000

(3) ¥ 3,00,000 (4) %.5,00,000

Y e a 2015-16 F aftss AFe & /& fra=i emg, saewt
q BT 2 7

(1) 1,00,000% (2) 2,50,000%

(3) 3,00,000 (4) 5,00,000%

Which of the following taxes is/are withdrawn or abolished ?

(1) Wealth tax (2) Estate duty
(3) Gift tax (4) Allof the above
Fr=tifed &0 & 4 99 9ug & o @ 8 a1 e w] 3 ™
g : ,.

(1) @ % @) STES HY
(3) ITER &Y (4) SUqRT FH

18
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44. There are nine pillars for the Union Budget 2016-17. Which of the

45.

46.

following is not included in the nine pillars ?
(1) Agriculture and farmers’ welfare

(2) Fiscal discipline

(3) - Tax reforms to reduce compliance burden
(4) Special focus on working women

3 woTe 2016-17 B A @ ¥ | Prefrad § & e A @
§ afenfea € ? 7

(1) BN wd FHhi B BT

(2) SIS STFATEA

(3) AU SIS H FH HIA 8F HX IR
(4) HER ARerel W AT BrHE |

Shareholders of a company are its :

(1) Owners "~ (2) Short-term fund providers
(3) Debtors (4) Creditors

et HOet B Sird 2 ¥

(1) =S | (2) SACIHIRTD O HaT

(3) &R | (4) AR

Which among the following is .incorrect ?
(1) RBI is the Bank of Issue

(2) RBI acts as a Bankers’ Bank

(3) RBI does not regulate the flow of Credit
(4) RBI acts a Banker to the Government

L2 P.T.0.
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47.

48.

Frefofae & & @ oy 2 7

(1) .dr.ong. ety &1 ¥ 2

2) AR, Fof B F5 P wy F et wear

(3) Wﬁmm%maﬁrﬁmﬁﬂﬁm%
() ARAreE. THR B Fax D w0 F HF pyar

In which sector, industries are included ?

(1) Primary Sector (2) Secondary Sector
(3) Service Sector (4) None of the above
SN 6 e 8= afafer fwar mar & 7

(1) urafep &= o 2) facfaes &3 o

(3) ®ar &= H (4) S fREr § T

A personal account can not be opened in :

(1) A Co-operative Bank (2) A Scheduled Bank

(3] The Resérvc Bank of India  (4) A Private Bank

49.

e (1) @ner 78t @ier s gepar ©

(1) TEHERT 3 | (2) STggRd g4 |

(3) HRdE Red g & @) e (a=) S #

In agriculture production, food grains include :

(1) Only cereal ' (2) Cereals and pulses

(3) Cereals and oilseeds (4) Pulses and oilseeds
20
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S1.

52.
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N S #, @ & afaf e o
(1) haet AT (2) STIST qe ar
(3) T aun foere (4) &t e fase

In India, the apex body for direct agricultural loan is -

(1) Reserve Bank of India | |

(2) State Bank of India

(3) Naﬁonal Bank for Agriculture and'Rural Development
(4) State Co-operative Bank

ART #, weaeE By kT @ S e ® o
(1) AT Red ¥ |

2) AREE Ve §®

(3) T HY wd AT s S6
(4) T GEH b

Service Tax, in India, is a :

(1) Direct Tax (2) Indirect Tax

(3) Provincial Tax (4) Local Tax

AR F a1 W B -

(1) SaT &< (2) STTATHET X

(3) i HT (4) TIFE &HT

Coins in India are minted by :

(1) Reserve Bank of India (2) Government of India

(3) State Bank of India (4) Government of Maharashtra

21 P.T.O.
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S3.

54.

55.

AR H fHaeht 5 sad B 2

(1) 9IRa o 36 ary (2) WG 9 R

B) AR Ve J gry (4) ¥WERTE EXHIRX BRI
What is the currency of South Korea ? |

(1) Shekel (2) Won (3) Peso (4) Kuna
SF&TT BT @ R T g A Y 7

(1) W& (2) @9 (3) g (4) T

In how many languages, the amount is written on the new series of
Rs. 1,000 bank note (paper currency) ?

40 s & 1,00060%%%Wﬁﬁ?ﬁwﬁﬁmﬂf§rgﬁﬁ
g7

(1) 2 2) 15 (3) 17 4) 19

As per announcement made in Union Budget 2016-17 the department
of Disinvestment will be renamed as which of the following ?

(1) Department of Asset Management
(2) Department of Public Disinvestment

(3) Department of Investment
(4) Department of Investment and Public Asset Management

DT g7 2016-17 7 63 13 oorali & srgar RfEer femr @
Tar ArEeper it ® § @-ar gem ?

(1) @9gica ga=a= ¥

(2) ddsie fafsaer fawm

(3) fasr fq«m

(4) e T adsite qrafa gewas e

22
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The upper age limit of girl child for opening account in Sukanya
Samriddhi Yojana is :

(1) 3 years (2) 5 years (3) 10 years (4) 12 years
Wag@&rwﬁ@m@aﬁ%%ﬁmaﬁaﬁaﬂeﬂ
dmr 2 o

(1) 3a¥ 2) Ssad (3) 10a9 4) 12T

The economic growth in India will happen necessarily if there is :
(1) Population growth

(2) Capital formation

(3) Technical progress in global economy

(4) All of the above

qrig § anfie M srasas w9 q 86, I
(1) sFEeE g @

2) Usit fomior &

(3) Aasw srefegaren ¥ qwlal fmra &

(4) ST gH

Whigh out of the following is an example of trade barrier ?

(1) '. Foreign investment (2) Delay or damage of goods
(3) Tax on imports (4) None of these

PrefiRaa & @ B9 =R a9 H ST § 7
(1) Fel faferT (@ W F A ar ey
(3) ST 9T &HY 4) STAFT F S T8

23
P.T.0.
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59.

60.

61.

62.

Stock exchange deals with the :
(1) Second hand securities (2) Issue of equity shares

(3) Issue of preference shares (4) Issue of debentures

WP TS Rhgar S9-29 @ear T 7

(1) 9=t mfergferat = (2) FHar Sish & FrtE @
(3) oiem ool & Frfa @& (4) TSt @ Pt =

Which is not an Indian Multinational Company ?

(1)  Unilever (2) Asian Paints

(3) Piramal (4) Wipro
FrfciEe & & @ AR Tgst e a9 o
(1) FRtER (2) U Ued
(3) (4

The value of {(0.05)% + (0.41)2 + (0.73)%}/{(0.005)? + (0.041)2+(0.073)2 is :
{(0.05)* + (0.41)? + (0.73)3/{(0.005)2 + (0.041)2+(0.073)% T AT & :
(1) 1000 (2) 100 (3) 10 4) 0.1
[fX=a+b-c,Y=b+c-a, Z=-2bthen X*+ Y3+ Z%is equal to:

g X=a+b-c,Y=b+c-a,Z=-2b T X3+Y3+X*%hl A9 & :
(1) Zero (2) -2bla+b-c)(b+c-a)
(3) -6bfa+b-c)(b+c-a) (4) 6ba+b-c)(b+c-a)

24
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The value of 0.273 is:

0.273 &1 | ® :
(1) 273/900 (2) 273/990
(3) 273/9000 ©(4) 273/999

if \(0.05)(0.5)a = (0.05) (0.5) /b, then a/b is :

afie /(0.05)(0.5)a = (0.05) (0.5) /b, d a/bH AF B :
(1) 0.025 (2) 0.0025 (3) 0.00025 (4) 0.25

The smallest number, which when divided by 20, 25, 35 and 40 leaves
the remainder 14, 19, 29 and 34 is :

g8 BId § BIE &, R 20, 25, 35 @0 40 ¥ e Brar s

ol AT 14, 19,29 &7 34 A9 I}, B -

(1) 1394 (2) 1404 (3) 1406 (4) 1664

Six bells commence ringing together and ring at interval of 2. 4. 6. 8.

10 and 12 seconds respectively. In 30 minutes how many times do
they will ring together ?

B: °g2dl U |1 IO UIRET @ A 2, 4,6, 8, 10 94T 12 Yo
%WWW%ISOWﬁaWWWWW?

(1) 4 (2) 10 (3) 15 @) 16

The number of prime factors of the product (8)*° (15)% {775 is::

TSR (87° (15P° (7)° #§ orrd TOTREVET T §
(1) 138 (2) 123 (3) 98 (4) 59

25 P.T.0.
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68. Area of rhombus is 36 cm? and length of the one of its diagonals is

6 cm. the length of the second diagonal is :

freT THegYST @1 &= 36 cm? T SN T [0 6 cm. & dl
a0 Tt 2

(1) 6cm. (2) 6J2cm. (3) 12cm. (4) 3cm.

69. On increasing each side of a square by 25% the increase in area will

be :

o faRft avt &t g gor H 25% @1 gfs @ ST A IED SFAFA
# gis grt e

(1) 25% (2) 55% (3) 40.5% (4) 56.25%

70. The ratio of the area of a square of side 'a’ and that of an equilateral

triangle of side a 1s :

e g qe HETg B B Yo ) @ A ST e #1 S
B &
(1) 4:43 (2) 4:3 3) 2:43 @) 2:1

71. The perimeter of a square and a rectangle are equal. If the area be A m?

and B m? respectively then which of them is true statement ?

@aﬁaw.@maa%qﬁfﬁﬁw%mﬁaﬁmaﬁmAmz
.wmmmBmz-é,ﬁaﬁﬂ—mww%?

(1) A<B (2) A>B (3) A<B 4) A>B

26
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The area of a circle is equal to the area of a square. What is the ratio

between the sides of the square and the radius of the circle :
aﬁ@ﬁgﬁiﬁrwwaﬂ%méwa?ﬁaﬁaﬁgw
qAT g Bl Bodr H AP B

(1) Jr:1 2 1:vn 3) m:1 4) 1:z

What percent of 1 day is 36 minutes ?

@ﬁ?mssﬁazﬁa—wnﬁmm%?

(1) 25% 2) 2.5% (3) 3.6% @4) 0.25%

In an examination it is required to get 36% marks to pass. A student

gets 145 marks and fails by 35 marks. The maximum marks are :

el ahem A Iafior A9 F R 36% oim B cmaEEA B ww
Tl 145 97 HT<T B 35 SHeht A STIACT & wwar 1 qer &
HAfheH i B -

(1) 400, (2) 600 - (3) 450 (4) 500

For a sphere of radius 10 cm, the numerical value of the surface area

is how many percent of the numerical value of its volume :

@ﬁ%a&%mmﬁrﬁo%lsﬂ%w—éﬁm%eﬁﬁwnﬁw
Eﬁw-wnﬁmsﬂa‘awwaﬁmméﬁn?

(1) 24% 2) 26.5%  (3) 30% (4) 45%

27 P.T.0.
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76.

77.

78.

79.

Mixture of 40 liters of milk and water contains 10% of water. How

much water should be added so that water may be 20% in the new
mixture ?

(1) (2)
g S gt & 40 chex fiysror & arlt 10% 21 Bsrer # feheer Ot

Fremar s 6 [ s § ol 20% 8 ST 7
(1) 4& (2) 5arex  (3) 6.5

4 liters 5 liters 6.5 liters

(3) (4) 7.5 liters

(4) 7.57"X

The price of sugar is increased by 20% if the expenditure on sugar is
not allowed to increase. The ratio between the reduction in
consumption and the original consumption is :

afr h B geg T 20% #H ghe 89 W I@ W A a T4 o
qRade | e Rar o, o 5 @ adt g8 SuhT oA 9 gd

STERT @ AT 0 STAE BN

(1) 1:6 2 15 (3) 1:4 4 1:3
7
(1_1J(1‘"%][1‘é] ------ \1—}1: is equal to :
1), 1 1 1
e |1==|1== |iseee 1-—| qeEx &
[\1 ]{\1 4“ 5] n 8
(1) 1/2 (2) 2/n
3) 2n(n-1)/n 4) 2/n(n-1)

as 45 years. By
The average age of A, B, C and D five years ago was 45y
including X, the present average age of all the five is 49 years. The

present age of X is :

(1) 64 years (2) 48 years (3) 45 years (4) 40 years

28
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urer @ 9 A, B, C 8iR D & o1y @1 o\ 45 ad e, af X @
AT 6T A 9 9Tl @ JAA g B SNed 49 g & e ©
X @l gHE g ®

(1) 64Ty (2) 48 a9 (3) 45ad (4) 40 ad

The average of 5 consecutive numbers is N. If the next two numbers

are also included, the average of 7 numbers will be increased by :
(1) 1 , (2) -2
(3) 1.4 (4I) Remain the same

4Te SR SEAtSt & e N 3 1 afk &) sifiey geareil @ gwfere
FH forr s &t 7 sl & olwa & ghw enh

(1) 1 | (2) 2
3 1.4 (4) B qRadT et
If 2A =3B =4C then A:B.Cis:

gfd 2A=3B=4C ar AB:C ® :

(1) 234 = (2) 4:3:2 3) 3:4:6 4) 6:4:3

The ratio of father’s age to son’s age is 4:1. The product of their ages
Is 196. The ratio of their ages after five years will be :

fﬁmaﬂTgaa?raag‘aﬁraﬁmam%laﬁangaﬁrwl%
BI 599 91 IR g H oUW & :

(1) 10:3 2) 11:4 (3) 14:5 (4) 3:1

29 P.T.O.
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83. A shopkeeper earns a profit of 12% on selling a book at 10% discount

on the printed price. The ratio of the cost price and printed price of

the book is :

afe Tep gedep fasbar R0 God IR 10% ol G IHT 12% AT AT
AT & O JEh B HA-Ged TAT GRA - JoF Hl AU B
(1) 99:125 (2) 75:85 (3) 50:61 (4) 45:56

84. A man sold two horses for ¥ 4,000 each, neither gaining nor losing in
the deal, If he sold one horse at a gain 25%, the other horse is sold at

the loss of :

ush T BT AT SIS Y T 4,000 F TeAb Bl I X IH T A4 Sl
2 T By | AR o 91 T I 25% BN ATH O I Bl AT T
fepee ufarerd &t i &rit ?

(1) 50/3% (2) 164/9% (3) 20% 4) 25%

85. A does half as much work as B in 3/4% of the time. If together they

take 18 days to complete a work how much time shall B take to do
it ?

(1) 25days  (2) 30days (3) 3Sdays (4) 40 days
A,BWWWWmWﬁW%IMWWW
aﬁlsﬁﬁﬁgﬂaﬂﬁ%mwwaﬁﬁﬁ%&qﬁ@m?
(1) 257 ) 30k (3 35RA (4) 40 f&=

30
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86. Two pipes A and B can fill a tank in 15 hours and 20 hours
respectively. While a third pipe C can empty the full tank in 25 hours.
All three pipes are open in the beginning. After 10 hours C is closed.
The time taken to fill the tank is :

(I) 18 hours (2) 16hours (3) 27/2hours (4) 12 hours

A 7 A qur B Bt ¥ B A 15 qor 20 99 F WX @A E,
ST T 9 C W gU I A 259 F qolear @ e ww
B U & A Al B s | @i R o 81 AR car 10
g2 9% g aX Rar o, a ¥ @ ¥ F Peasr gmm i ?

(1) 18 g==T (2) 16®=T (3) 27/28=T (4) 12 g=T

87. A boat travels upstream from B to A and downstream from A to B in
three hours. If the speed of the boat in still water is 9 KM per hour

and the speed of the current is 3 KM per hours. The distance between
AandBis:

(1) 4KM (2) 8KM (3) 12 KM (4) 6 KM

%mm%mBﬁAmwaﬁTﬂ%ﬁwﬁAéBa&ﬁiﬁ

iﬁﬁﬂﬂﬁ%#w'wﬁluﬁwmﬁmaﬁﬁgﬁﬁhﬁa

ﬁWHWWﬁWS%@TﬂHHﬁW@ﬁ}AWB%
SICIC -t

(1) 4RI (2) 8 Reeinirex (3 12 FRieR (4) 6 e

31
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88. After S years the age of a father will thrice the age of his son. Whereas
5 years ago he was seven time as old as his son was. What is the

father present age ?

(1) 35 years (2) 40 years (3) 45 years (4) 50 years

sad arg Riar @ oY 9 G § Y & foayr i srafs s av
o Rar 2 omg g & @ g A far @ wEE ey ®

(1) 3549 2) 40 T (3) 45ad @) 50 ad

89. ‘A’ lent Rs. 600 to ‘B’ for two years and Rs. 150 to ‘C’ for four years
and he received Rs. 90 from both as simple interest. The rate of interest
is:

A, B &l 60 600/- 4 ad Tur C & To 150/- AR a4 % forg
IR T 7 SR Al | FA Fo 90/~ WTHIRST SIS AT Yl & |
Ry TRET AT AR T

(1) 12% (2) 4% (3) 10% @) 5%

90. The difference between the compound interest and the simple

interest on certain sum at 5% per annum for two years is Rs. 1.5

the sum is :

(1) Rs. 600 (2) Rs.500 (3) Rs. 400 (4) Rs. 300

32
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foredl &9 9X &1 a9 H ARl e a9 gHhgis AN H ST Ho
1.581 gk =T i &% 5% fad & a1 €9 ¥

(1) o 600  (2) Bo500 (3) Ho 400 (4) Bo 300

A contract is to be completed in 56 days and 104 men were set to
work each working for 8 hours a day. After 30 days 2/5 of the work is
completed. How many additional men may be employed, so that the
work is completed in time each men working 9 hours a day :

frel 3 @l 56 & & QX AT B | 104 AFT SN [ 8 wwT M
M A §, HH I TS T | 30 R 7 2/5 w07 H G e | T
fpe Tt e qX @A 9 75 b [MiRE g ¥ Q@ @ o
STefeh geh SAfeRT 9 g2 HfifRT HM i & ?

(1) 60° - (2) 56 (3) 70 (4) 42

Three men A, B, C walk around a circle 1760 meters in circumference
at the rate of 160 meters, 120 meters and 105 meters per minute. If
they all start together and walk in the same direction, after what time
will they meet together again ?

(1) S hours (2) 5 hours and 52 minutes

(3) 6 hours (4) 6 hours and 25 minutes

A,B,CT% g, et R 1760 dto T, = qReemr mwsr: 160
Al /Mo, 120 /Mo e 105 1 fro %t = § &3 & afe 1= T

AT ok 8 e # aReper s ¢ A R @99 gsa 3 e o
ey B ?

(] N (2) Se=T 3% 52 fyo
(3) 6 == (4) 5a=T 3 25 o

33 P.T.0.
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93.

94.

95.

Sound travels at 330 meters per second. How many kilometer away is
a thunder cloud when it sounds follows the flash after 10 seconds ?

1) 0.33KM (2) 333KM (3) 3.3KM (4) 3.0 KM

iy P T 330 Mo /Ao T, @ ol fhatt g Heail B, aflt =9
% 10 o & @fy g gsdt ¥ ?

(1) 0.33fFotto - (2) 3.33fForio -

(3) 3.3 fHoHio (4) 3.0fFoHio

One army camp had ration for 560 soldiers for 20 days. 560 soldiers
reported for the camp and after 12 days 112 soldiers were sent to
another camp. For how may days the remaining soldiers can stay in
the camp without getting a new ration ?

Uk AT B W A 560 At & o 20 R @ @rer |@wEd 81560
A Brg F o T ol 12 R aw 112 AR B TR F9 F A
AR P F @ AT & 7

(1) 12 (2) 15 (3) 16 (4) 10

If the radius of a base and height of a cylinder and cone are each
equal to 'r'. The radius of a hemisphere is also equal to 'r'. The volume

of cone, cylinder and the hemisphere are in the ratio :

qﬁﬁs@w%ﬂﬁwaﬁﬁwﬁwaﬂaﬁm'rﬁﬁn
@‘aﬁﬂ?{aﬁﬁwﬁ'r'ﬁrfﬁs@aaﬂwaﬁéw

%1 I ¢ :

(1) 1:3:2 (2) 1:2:3 (3) 2:1:3 (4) 3:2:1

34
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Direction : (Question no. 96 and 97) : Turn odd man out :

e (w99 e 96 ud 97) : fFrfaRaa demsdl # § as de=
ST BT ST e B G 78l 2|

3,5,7,12, 13, 17, 19, 23, 29
{1) 19 (2) 23 (3) 12 (4) 5

8, 13, 21, 32, 47, 63, 83
(1) 47 (2) 63 (3) 32 (4) 83

Direction : (Question no. 98 to 100) : The table given below shows
the population, literates and illiterates in thousands and percentage
of literacy in three states in a year :

e (Y97 Ho 98 & 100) : Frifiaa aftesr & = T4t & o
sHHeEr, [T qen e o den (et #) aer iRt @
gfcrera fear 8

States Population Literates Illiterates %-age literacy
in thousands in thousands in thousands
R s fufaa arfarféra %-39 ffta &
gt g gt A
Tamil Nadu 49342 6421 e e,
SIERAIS
Maharashtra —....... 4068 1790
HesS
West Bengal 60314 R 16.1
offem &S
b P.T.0.
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98. Percentage of literacy in Tamil Nadu is :

ey | fRifert @ ufaee @
(1) 14.9% (2) 13.01% (3) 12.61% (4) 15.04% -

99. Percentage of literacy in Maharashtra is :

e | farferat o ufdea ® |
(1) 19.5% (2) 16.7% (3) 18.3% 4) 14.6%

100. Literates in West Bengal are (in thousands):

ufyed g # ffEet & der g (e H)
(1) 50599 (2) 9475 (3) 7865 (4) 9710.6

Direction : (Question no. 161 to 105) : Study the following Bar graph
carefully and answer the following questions :

Rrder: Praffae ave fom oY o9 @ 92 3% 99 @@ 101d 105
% ITT 1 ¢

600

500

400

® Quantity in Lakhs tin

# Value in crore of Rupees

year 2003 Year 2004 Year 2005 Year 2006 Year 2007
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101.1n which year the value per tin was minimum ?

g @y H i o5 @1 gea e ar ?
(1) 2003 (2) 2004 (3) 2005 (4) 2006

102.What was the difference between the tins exported in 2005 and

2006 ?
2005 T&T 2006 & 9 Fafa gu T @ =X & of ?
(1) 10 (2) 10000  (3) 100000 (4) 1000000

103. What was the approximate percent increase in export vahae from 2003

to 2007 ?
~ 2003 2007 7% Frafa § e R sRiew o afs g of 7
(1) 350 (2) 330 (3) 233.3 (4) 250

104.What was the percentage drop in export quantity from 2003 to

2004 ?
m 75 @2 25 (3) Nil 4) 50
2003 § 2004 T & Fratq & sfverr & Rraer zr gorr o7 7
(1) 75 () 25 3) = (4) S0

105.1f in 2006 the tins were exported at the same rate per tin as that i
2005, what would be the value in crores of rupees of export in 2006 2

qﬁzooﬁn%%r%a@mﬁzoosﬁmﬁzoo | frafg
I HU$ 94 7 F1 o1 ? o "

(1) 400 (2) 382 (3) 375 @ 350

37
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Choose from the four alternatives the synonym of the word given :

106.Espionage :
(1) Quarrel
(3) Spying

107. Erudite :

(1) Ample
(3) Martial

108. Sanctimonious :

(1) Imaginary
(3) Laborious

109. Stalk :
(1) Pier
(3) Seat

(2)
(4)

(2)
(4)

(2)

4

(2)
(4)

Foreign
Cavity

Convenient:

Learned

Self-Righteous
Wood nymph

Follow stealthily
Harsh talk

Select from the four alternatives the antonym of the word given :

110. Pretentious :

(1) Irritable

(3) Modest

111. Descend :
(1) Harsh
(3) Mellow

38

(2)

(4

(2)

Sanguine '

Morale

Ascend

Discourse
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112. Commiserate :

(1) Congratulate (2) Contemplate
(3) Exonerate (4) Evade
113. Execrable :
(1) Laborious (2) Fiendish
(3) Abrupt (4) Pleasant

In each of the following questions, the first and the last parts of a
complete sentence or passage are numbered as 1 and 2. The rest is
split into four parts named ‘P’, ‘Q’, ‘R’, and “S’. These four parts are
given in different combinations and are not in their proper order.
Find out the correct combination from the four combinations given
below the last part of the sentence numbered as 2 :

114.1. It is easier to imagine

P. of someone

Q. who labours under total error

R. than the state of mind

S. the mental state of a man

2. deluding himself with half-truths.

(1) RSQP (2) SQRP (3) RQPS (4) PSQR

115.1. Pity consists :
P. in the feeling that
Q. consists in the idea that
R. indignation, by contrast
S. another has suffered unjustly;
2. another has done undeservedly well

(1) QRPS (2) SQRP (3) PSRQ (4) RSQP

% P.T.0.
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116.1. It is also possible
P. are desirable as friends

Q. though not yet one’s friends,

R.  to befriend those who,

S.  for their possession of

2. some attractive characteristics.

(1) RQPS (2) ORPS (3) RPQS (4) QSPR

117.1. Every individual must think
P.  he finds a truth

Q. in his own personal way

R. for on his way

S. ora kind of truth

2. which helps him get through life.

(1) PORS (2) SQPR (3) RQPS (4) QRPS

The given sentences are divided into three parts numbered (1), (2), (3) and
(4), one of these parts may contain an error. Select the erroneous part. If
you think there is no error in any part of the sentence, select the option
number (4) which indicates ‘No Error’ :

118. His tenants/grow rich/and look satisfy. No Error.
(1) (2) (3) (4)

119.In the hours/of leisure/we turn to distractions. No Error.

(1) (@) 3) (4)

120.The firsts/fall of snow is/a magical event. No Error.

(1) (2) (3) @4

121. What bundle/of contradictions/is a man! No Error.

(1) 2) (3) (4)

40
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122.A Pilgrimage is/an expeditions/to some sacred place. No Error.

(1) - @ (3) (4)

123.Though naturally pensive/I am fond/of books' company. No Error.
(1) (2) (3) (4)

124. Childs love to/listen to stories/about their elders. No Error.
(1) (2) ) (4)

125.No young man/believe he shall/ever die. No Error.
(1) (2) 3 @

126. As we grow old/our sense/in the value of time becomes vivid. No Error.

(1) (2) (3) @)

127.Which of the following options is the correct indirect speech of the
following sentence ? _

He said, “I will be in Delhi on Sunday”

(1) He told he will be in Delhi on Sunday

(2) He informed that he shall be in Delhi on Sunday
(3) He said that he is coming to Delhi on Sunday

(4) He said that he would be in Delhi on Sunday

Choose the correct xheaning of the idiom underlined in the following
sentences: '

128.31‘he civic authorities often realize the fact that Rome wasn’t built in a
aay : '

(1) They are free from responsibilities

(2) Patience is needed to complete a task
(3) Itis easy to make money

(4) Can never be sure of anything

41 P.T.O.
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129. Alas, the die is cast.

(1) Failure is expected (2) Preparations are gone wrongl

(3) Irrevocable decision is taken (4) Opportunities already lost

130.When it comes to family relationships, blood is thicker than water.

(1) Having rich parents helps
(2) Character is difficult to change

(3) What is done can’t be undone

t4) Kinship bonds are stronger than any

131.Cricket is a game of glorious uncertainties and it is advisable not to

celebrate until the fat lady sings.

(1) People should restraint from celebrating
(2) They should wait for official declaration
(3) Situation may still change

(4) Until the final ceremony is over

Choose from the four alternatives the correct substitute for the following

expression :

132.A person who belongs to all parts of the world; a person familiar with
many different countries : )
(1) Emigrant (2) Immigrant

(3) Cosmopolitan (4) Ambassador

42
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133.The murder of a king is called :
(1) Homicide (2) Fratricide

(3) Regicide (4) Matricide
134.Find out the correct phrasal verb for the underlined word :

After a long battle, the fire officers extinguished the fire.
(1) Put down (2) Putout

(3) Wiped away (4) Burnt down
135. Identify the part of speech of the word underlined :

The committee took the decision hastily.
(1) Adjective (2) Adverb
(3) Suffix _ (4) Conjunction

136.1dentify the figure of speech used in the following sentence :

He is regularly irregular in the English class.

(1) Simile (2) Metaphor (3) Oxymoron (4) Paradox

137.Which of the following words contains a diphthong ?

(1) Chunk (2) Chronic (3) Chocker (4) Choker

B P.T.O.
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138. Which of the following is a monosyllabic word ?

(1) Fiji (2) Filth (3) Forget (4) Filter

Choose from the four alternatives the correct one to fill in the blank :

139.Humans need to ...cocevvvvenineenennnn together for warmth and comfort in
this indifferent cold world.
{1} Crumble (2) Cry
(3} Crush (4) Cuddle
140.Because of the oil spill, thousands of dead fish were ................. in
the swamp.
(1) Float (2) Sinking (3) Swim (4) Floating
141. Inspite of patriarchy, some Women ................... and make a mark for
themselves.
(1) Rebel (2) Riot
(3) Rebuke (4) Restraint
142, Thete Was @ cuewmmniimin of people gathered at the accident site.
(1] Collection (2) Crowd (3) Gang (4) Crew

143.FEven in the midst of economic recession, some businesses seem to

(1) Bloom (2) Volatile (3) Boom (4) Growth

744. 1t is not advisable to be .......c.coeeeet of others’ prosperity .

(1) Jinx (2) Zealous (3) Zealot (4) Jealous
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145.Team India reached the .................... of success after winning the

2011 cricket World Cup.
(1) Scale (2) Nadir (3) -Moral (4) Zenith

146.Choose the correct option that can be the passive voice of the following

sentence :

They are repairing the road :

(1) The road being repaired by them
(2) They are being repaired the road
(3) The road is repaired by them

(4) The road is being repaired by them

So the greatest men of modern India have all made it their life’s work
to bring about an approachment with the West. The chief example is
Rammohan Roy. He stood alone in his day for the union of India with
the world on the broad base of humanity. No blind belief, no ancestral
habit was allowed to obscure his vision. With a wonderful breadth of
heart and intellect he accepted the West without betraying the East......
Rammohan Roy did not assist India to repair her barriers, or to keep
cowering behind them,-- he led her out into the freedom of Space
and Time, and built for her a bridge between the East and West. That
is why his spirit still lives with us, his power of stimulating India’s
creative energies is not yet exhausted. No blind habit of mind, no
pettiness of racial pride, were able to make him commit the folly of

rebellion against the manifest purpose of time.
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147.What is the central idea of the passage ?
(1) Appeal for possible union between the East and West.
(2) Appeal against possible union between the East and West.
(3) Impossibility of union between the East and West.

(4) Possibility of questioning the union between the East and West.

148.0On what basis did Rammohan Roy try for the union of India with the

world ?
(1) On the basis of Religion.
(2) On the basis of International relations.

(3) On the basis of Humanity .

(4) On the basis of economy and culture.

149.As the passage suggests, we can build the bridge between the East
and West :

(1) If we solve India’s problems

(2) If we blindly follow India’s cultures and customs.

(3) If we have a petty racial pride.

(4) If we lead India out into the freedom of Space and Time.

150.What do you mean by the word “Folly” as used in the passage ?
(1) Uselessness. | (2) Foolishness.
(3) Dangerous. (4) Cunningness.
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ROUGH WORK
TFE FH
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